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HASE No = 500 501 502 503
B 40 i~49 i@ T0kg SLF# 80kg LA Tk 90kg LL Tk 90ke ##k
HiAZE N0 = 504 505 206 507
BF 50 @~54 i T0kg LTk 80kg LLTF#k 90kg LT 90ke ¥k
HAZEt No = 508 509 510 511
BE55~59 1 T0kg L TF#R 80kg LL Mk 90kg LT 90kg &k
HiAZM No = 512 513 514 515
BT 60 bl L 70kg LTk 80kg CL Tk 90kg BLF#k 90kg Bk
HAZ4 No = 520 521 522 523 524
T 40 B ~49 wR 50kg BL Tk 60kg BLT#k T0kg LITF# | 80kg LLTF#k | 80kg ##k
HiAZ No = 525 526 527 528 529
I 50 @E~54 i 50kg BLF#k 60kg LU Rk T0kg LUF#: | 80kg U F#k | 80ke #i#k
HiAZfM No = 530 531 532 533 534
F 55 ~59 iRk 50kg LTk 60kg LRk T0kg LLF#k | 80kg BLF#k | 80kg B
HiAZA No = 535 536 537 538 539
¥ 60 Bk 50kg LLF# 60kg BLF#k T0kg LU T8 | 80kg BLT#k | 80kg ik




